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Answer five questions, taking one from each unit.

UNITH

. (8 Defineoperating system (0OS). What arethe services provided by

0s? 1+5=6
(b) Explainbatchandtime-sharing operating sysemswithillustrations.
Writethe prosand consfor each operating system. 4+4=8

. (&) What arered-timeoperating systems?Writedown itsadvantages

and disadvantages. List and explain thetypesof red-timesystems.

2+4+3=9
(b) Briefly explain processcontrol systems. 2
(c) Explainthefollowingtermsgivenbeow: 3x1=3
(i) Multiprocessng
(i) Multitasking
(iii) Multithreeding
UNITHI
. (@ Whatisakerne?What arethefunctionsof akernel? 1+4=5
(b) Differentiate between operating system and kerndl. 5
(c) Explaintheread() andwrite() systemcall. 4

. (@ Listandexplainal thetypesof kernel along withtheir prosand cons.
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(b) What are system programs?What are thetypesof system programs?

1+3=4
UNITHII
. (8 What arethedifferencesbetween aprocessand athread? 3
(b) Explainuser level and kerndl level threadsaong withtheir prosand
cons. 6
(b) Explainthelifecycleof aprocess. 5

. (& What are process schedulers? Explain thetypesof process
schedulers. 1+6=7

(b) Cdlculatetheaveragewaitingtimeand averageturn-aroundtime,
using round-robin scheduling algorithmwith time quantum 4, for the

following processes: 7
Processes | Arrival Time | Burst Time
Pl 0 8
P2 1 6
P3 3 3
P4 5 2
P5 6 4
UNITHV
. (8 Explainfragmentation. How canit bereduced? 3+2=5
(b) Writeanote on compaction and swapping. 5
(¢) What arethetypesof partitioningin OS? 4
. (8 WhatisMMU?Withthehelp of adiagram, explain how the mapping
between logica and physical addressesisdone. 1+3=4
(b) Explainsegmentationwithanexample. Why isitrequired?  5+2=7
(c) Writeashort noteonvirtual memory. 3
UNIT-V
. (@ What are dedicated and shared devices? 2
(b) Explaindl thelogical structuresof adirectory along withtheir pros
and cons. 12
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10. (@) Explainthelinkedlist dlocationmethodwith anillustration. Write

down itsadvantages and disadvantages. 4+4=8
(b) What do you understand by device management in OS? 2
(c) Explainthefollowingfileoperations: 4x1=4

(i) Createoperation
(i) Openoperation
(iii) Seek operation
(iv) Truncateoperation




